Math 222, Fall 2016.

Present your work in an organized fashion. Make sure that your work is algebraically
correct and logically sound. Show all your work. No calculator, notes, or books.

Take-home Quiz 11/11/2016 M222-001, Due in class on 11/14/2016
1. Find the inverse Laplace transform of the given functions.

(@F(s) = o OF(s) = 55, (OF() = o

2. Use Laplace transform to find the solution of the IVP:

yW —y=0, y0)=1, y(0)=0, y'(0)=-2, y"(0)=0.

3. Use Laplace transform to find the solution of the IVP:

t, 0<t<l,
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